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 يموزارة التربية والتعل    
 الإدارة المركسية لتطوير المناهج

     مكتب مستشار الرياضيات  

 

 

         4th
 grade primary                                  First term  

          Home Performances 

The third week: the first unit, lesson (8) + the second unit, the two lessons (1, 2) 

(1) 4,239  ~ ……….. nearest 10 

 

(2) 68929 ~ ………. nearest 100 

 

(3)  5183 ~ 5200 to nearest hundred  ………. 

 

(4)  The population of a village is 23,358 people, round the population to the 

nearest thousand 

 

(5) The gain of a company is 9,584,039 pounds, round to the gain for the nearest 

million 

 

(6) Using the front end estimation strategy to find a result of      453   +   293 

 

(7) Round to  nearest thousand the result of    5,325 + 3,842  
 

(8) Using the front end estimation strategy to find a result 

            857   -   342   = 
 

(9) Complete, then write the name of the property used  

 20 + (80 + 40) = ( …… + 80 ) + 40  (…………property ) 

 

(10)  Asim's write 78 + 25 = 25 + 78 Is this statement correct?  And why ? 

 

(11) Ahmed saved 35 pounds on Sunday, 27 pounds on Monday, and 15 pounds 

on Tuesday. Use the  properties of addition to find a total that Ahmed saved 
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(12) Sameh bought a television for 18,750 pounds, and aircondition for 23,425 

pounds, estimated at  pounds to the nearest thousand, then compare your 

estimate with the actual result 

 

(13) The number of visitors to the book fair on the first day is 13,457 visitors, the 

second day is 9,812 visitors, and the third day is 17,824 visitors. How many 

visitors are there in the three days?  

 

(14)  The number of girls in a school is 2,154 and the number of boys in the same 

school is 3,456 Calculate the number of school students 

 

(15) Using the properties of the addition to find the result  125 + 64 + 75 
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